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Excel

Excel

Excel

0.1

figl 1,



0.2

y= bo+ fix1+ oo+ ... +¢€

T

y= Bo+ w1+ fr1xt + Boxs + frarize + €

y= Bo+ 1 In(z1) + B2 exp(z2)

x2, r119, In(r1),exp(z1)

1 . T2

— ol .02

In(y) = In(ao) + In(cu)z1 + In(az)zre = Bo + ix1 + Gor2

In(y) = In(ao) + o In(x1) + a2 In(z2) = Gy + a1 X1 + a2 Xo

L1y L2y « -



e 1
1 +exp(— (6o + f1z))

z:ln(l 7_r7T> = 0o + e

™ =0.5 x ( 205

B, €

0.2

p=r/n

/607 Bl

(0.1)
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1.1

a
a @ 2
Q =200 — 60a + 6a> = 50 + 6(25 — 10a + a*) = 50 + 6(a — 5)*

(1.1) 2 6 n

(2)
T (Standard Error) se(T)
se(T) = %
o Se fe=n—1 Ve

s=VTi= F VERN
[ \/——1291

a=T=xse(T) =5+ 1.291 Q
Q=2S:.+n(a—7)%=S.+nx se(T)? =S+ V. =50 + 10 = 60

1.1 «a 3.709, 6.291
Q= Se + Ve a

gl

1 0.05

— t(fe,0.05)s5e(T) < pt < T +t(fe, 0.05)se(T)
5— 2571 x 1.291 < ju < 5 +2.571 x 1.291

1.681 < pu < 8.319

(1.2)



Q= Se+F(1, fe; 0.05)V
=50+ 6.608 x 10 = 116.08

a t(fe,0.05)2 = F(1, fo; 0.05)



1.2 7
1.2
1.2:
T 3 4 5 7 10 5.0 50.0
y|!5 5 7 6 9 10 7.0 22.0
Excel
LINEST
(1)
y=a+bx
a,b
Q=) (yi — (a+bx;))>
=1
Q a b
oQ Tt 0 w
09 _ 3" oy (a+ b)) s (a+ b)) = 3 2w — (a-+ br)(-1)
a4 a i=1
oQ ~ 0 L
=5 =D 2y — (a+bx)) 77 (Ui — (a+ b)) =D 2(y; — (a+ b)) (—;) (1.3)
2t b i—1
=0 a, b
n n
na -+ Z:L‘ib = Zyi
n i’r:Ll ni:l (14)
Z:Eia + Zlﬁzzb = inyi
=1 =1 i=1
Q i (a+ba)), i (kb)) -1,
Da Yi a L)), b Yi a Ly y &g
a, b a, b



6a + 30b = 42
30a + 2006 = 241

(2)
a, b
1.3
S Yiy 2 Tiliy 2 Y2
1.3 3 A
1.3:
a b 1 a b
A (D)4 6 30 49 1 0
(I1)4 30 200 | 241 0 1
(I11), 42 241 | 316 0 0
B (I)g=(1),/6 1 5 7 0.167 0
(II)g = (IT), —30(I) 0 50 31| -5.000 1
(IIT)g = (I11)4 — 42(1)p 0 31 22 [ —7.000 0
C (He={)p-5I1)¢ 1 0]3.90]| 0.667 —0.100
(IN¢e = (IT)p/50 0 1]0.62|-0.100 0.020
(ITDc = 1Dz —31I1)c | 0 0278 | —3.900 —0.620
A 6 B (s T=57=717
(IIg, (I1I)p Spz = 50, Sgy =31, Sy =22
B 50 C C 1 a=3.90, b=0.62
Se = 2.78
C ( 0.667 —0.100 ) ( 6 30 )
—0.100  0.020 30 200
Excel

14



1.2 9

1.4:
A B C 0 E F G H | .
a7 1 = Y
43 1 1 3
43 1 3 3
a0 1 4 T
51 1 ] E
52 i 7 £}
53 1 10 10
54
55 1 = Y
SE 1 E a0 A2 | BSE:D58 =MMULT (TRANSPOSECBEAZ:D053), BA2:053)
57 = 20 200 241
58 kS a4z 241 316
59
EN 1 .67 -0.10 3. 90| BEO:CE1 =MINVERSECESE:ICST)
E1 " -0.10 n.ngz 0.62) 060:061 =MMULT (EG0O:CE1,D56-057)
B2 | v 2.78 DE2 =058-MMULT (BS2:C58, DE0OI0E1)
1.4 T, y 1 XY
XY XYy?T Xy MMULT
1.4 Ctrl Shift
Enter 1
4
T (XTX XTY\l
XY XY =
\YTX YTy }
XTx (XTx)! MINVERSE
a, b B (XTx)"1xTy S. Y'vyB
1.3
n a,b 2
L MMULT
Ctrl Shift Enter MINVERSE LINEST

{}



fo=n—2=6-2=4 V, =8,/ f. = 2.78/4 = 0.695

a, b Ve

se(a) = v/0.695 x 0.667 = 0.6807
se(b) = v/0.695 x 0.020 = 0.1179 (1.5)

y= 3900 + 0.620x
(0.681)  (0.118)

(3) LINEST
Excel LINEST
5 2
=LINEST(y X , , TRUE)
Ctrl Shift Enter
1.5
1.5: LINEST

1,2

r const

b 0.620 3.900
se(b) | 0.118 0.681
R*| 0.874 0.834 | s,
F | 27.655 4| fe
Sr | 19.220 2.780 | S,

S, = 2.780

LINEST



1.2

(4) Excel
a, b
2
1.6 x, y C m
c2, C3 a, b 2.0, 1.0
ca =$C$2 +$C$3 * A4 U1
C10 Q=>(yi —ui)? =SUMSQ ($B$4: $B$9-C4: C9)
Ctrl Shift Enter 2
1.6:
Ale| o | o
1 15 pommmmmmmmmm oo
o ° 00 a
2 % oy 1.00 B
A 1 5 2.00
5 3 5 5.00
B 4 ¥ E.00
7 ] E 7.an
g 7 a4 a.on 1 : !
8 |10 10 12 00 I G 10
10 1000 0
x vy oy
a,b y,Q Q
2
Excel
1.7
2 7 =y — U SuMSQ( )
SUMSQ
MMULT
Ctrl Shift Enter

11
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LINEST
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1.7:

B &z L E: $CF10 =
BEE: ©EAEW ¢ RMEN C B [0 Bs |
A EEFB L
[3cs2508a A asw | .
SRR ) A7y |
=] ema |
TEC | ypa ke |
- BEzD | A |
Q b, ¢

a=23.90, b=062, Q=278

(5)
a, b 3 9
Q 1.8
1.8 a, b @
F G | H | I
210 \a 3.219  3.900 4.581
3 1 0.502 ] 13.155 5.560 3.525
4 1 0.620 5.560 2.780 5.560
51 0.738 3.525 5.560 13.155
Q F3
=SUMSQ ($B$4: $B$9- (GE2+$F3*x$A$4: $A$9)
Ctrl Shift Enter

1.8
a, b a b @ = 5.560



Se + Ve = 2.780+0.695 = 3.475

1.2

13

a+se(a), b—se(b)

O =3.525
2 1.9
1.9: Q
y = BxE - 53.87dx + 124,41 y = 200xF - 283884 + 107.TE
14 o ¥ 7 OeT - ab8k v 8404 14 o ¥ = 200x% - 248x + 73.66
19 F ¥ = Baf - 39.726x 4789.232 w = 2008 - 207_16x + 5711
10 r
8 |
B B
4 r 4
¢ F g |
|:| 1 L 1 1 |:| 1 1 1 1 1
3.0 3.5 4.0 45 5 0.50 0.55 0.B0 0.85 0.70 0.75
3 2 a 6 b 200
6  Q a, b 2 1.10
JMP )
1.9 1.10
Q=345 Q = 3475 2
Q = 3.475
b+ se(b) Q a Q Se+ Ve
se(b)
b §(= +1, +2 Q a
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1.11: 6 Q

y = B0x® - 4E-14% + 2.78

07379

b

| U R Y A ]
= an = e = an =

T

=

L2

= T, Tt T . -0.2 -0.1 n.o n.1 n.2

32193 a 4. 63069
1.12
b 3
1.12 6 b b—46 a
Q 1.8
1.12: 6 @

6 -020 -0.10 0.00 0.10 0.20
b 082 072 0.62 0.52 0.42
a 290 340  3.90 4.40 4.90
Q| 4.780 3.280 2.780 3.280 4.780

VBA Solv-Min
1.12

Solv-Min 1.12




1.2 15

§ Q 1.11 2

Q = 2.78 + 5062 (1.6)

se(b)
Q=25.+V.,=278+0.695 =3.475

o

5o |@ 278
50
Ve [0.695
= = = =0.11 1.
se(b) 5 50 0.118 (1.7)

(1.6) 2.78 S 52 50 (1.7) (1.5)
0.020
1.10 =0 T/ Sg
a, b
a,b a, b
Q a, b
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1.3 2
(1)
2 A B
1.13
1.13:
s A B
aln
025 1a 250

K0l 7478 T

yo= 1225 1R 4 1707
wo= 104891 + 12,071

Th) 100 126
100] 134 153 igg
125 178 202 Bl

150] 204 234 0

A'B

y=17.071+ 1.2251z, (A)
= 12.071 + 1.4891z, (B)

(2)



TA, TB

Y

A B
LINEST

1.3 2
y=a+bara+bprp
TA A r B 0 A 0
1.14
1.14: LINEST
o owh o uB i wE sl |
b 0 0 of 25 1.4G66Y L2474 14.5714
& 5O &0 of 74 0.0475 0.0475  4.1000
& 7h 76 af 100 0.991% 7.2317  HHAA
& 1000 100 0f 134 hHeB. 6 g HN/A
G 125 125 of 178 LEOTH 471 BW/SA
&l 1500 150 gl 2n4
B 0 0 0 13 s b p |
El &0 0 &0of 79 -0.2196 LJABEY 1405714
E| 7h 0 75 126 0.0431 0.0475  4.1000
E| 100 0 1o0f 153 0.991% 7.2317  HHAA
Bl 125 0 125 20% HeE. 6 9 HWAL
Bl 150 0 150 239 LEOTE 471 BN/
LINEST 1.14
145714 + 1.2474x1 + 1.4669z9
(0.0475) (0.0475)
02196 b17 b?
b17 bQ

SE(bp —ba) = \/ SE(bp)2 + SE(ba)2 = 0.0672

0
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1.15:

12 LO0 500 1532
500 hEZ50 0 7450
500 1] HE2L0 sa800

1h3Z 77450 49800 2h113%

0.3214 -0.00%29 -0.00%9 14.5714
-0.0029 4.317E-05% E.540E-0h 1.2474
-0.0028 %.%40E-0h 4.317E-05 1.46RY

470. 673 5e
he. 297 Ve
ba, b 4.317E-05 V. (52.297)  2.258E-
03 0.0475
bg —ba ba  bp
(254E-05) V.  (1.328E-03)
bp —ba bp, ba 2

se(bg — ba) = v/2.54E — 05+ 2.54E — 05 — 2 x 1.328E — 03
— VI.859E — 03 = 0.0431

(3)
(1.8)

y=a+bxr+(ba—bp)rp

=a+br+crp (1.10)
¢=ba—bg (L.11)
T, TA LINEST 1.14
y = 145714 + 1.4669x — 0.2196x4

(0.0457) (0.0431)



14 2

0.0431

—2.196 —¢(0.05,9) x 0.0431 < ¢ < —2.196 +(0.05,9) x 0.0431
—0.3171 < ¢ < —0.1220

~92.196
T 0.0431 —5.092
9 lt|  5.092
2
1.4 2

Yi = a+ Pz +¢;

i N(0, 0?)

(3

0.0007

19
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2.1

y=a+bxr =3.900+ 0.620x

(1)

R =

T Y n o
t(f., 0.05) =2.78

2
p~ a+bx £ t(f, 0.05)\/(%4- ($S T) )Ve

2.1y

Yy yL Yu
5.14 | 3.78 6.50
6.38 | 5.38 7.38
7.62 | 6.62 8.62
8.86 [ 7.50 10.22

10 10.10 | 821 11.99
6.613 8.00 | 6.92 9.08
5.088 7.05 | 6.11 8.00
9.383 9.72 | 8.00 11.44

o O N8

2.1
2.2



Y

6,7,8,9

2.2

2.1
22:y
14
12
10 =
. /-'\j/
]
4
E 1 1 1 1 1
I Z 4 B 8 10 12
(2.1) p==_
2.2 y=3_8 T
(2.1)
2.1 3
x 2.3
2.3 x
Yy Ty z Ty T — xTr, Ty — T
6 | 0.616 3.387 4.912 2.772 1.525
713206 5.000 6.795 1.794 1.795
8 | 5.088 6.613 9.383 1.525 2.770
9| 6.507 8.226 12.438 1.719 4.213

T

Excel

21



b,C Q b,C

88—22 = ; 2(yi — (84 bx; — Cﬂci))ﬁ%(% — (8 +bwi —cxi))

=3 9y — (0 + b — i) (=i +)
=1

0Q _ N~y — e 2 |
%_izzlz(yz (8 + ba; c:z:z))ab(yZ (a+bx;))

=D 2yi — (84 bxy — cx))(—b)

=1
=0 §1 2
b, ¢

y b c

dy o _ b

LINEST
Excel

<)

2.4 x, Yy Y
b, ¢ b=0.6, c =06)



<)

2.1

2.4:
K| L | M | N
1 b 0.6 0.620
2 c 6 6.613
3 Xy v 0
4 1 1 5 5.00 4.52
5 2 3 5 6.20 5.76
6 3 4 7 6.80 6.38
7 4 5 6 7.40 7.00
8 5 7 9 8.60 8.24
9 6110 10 10.40 10.10
10 Q 3.760 2.780
=8+N$1* ($L4-N$2)
> €2 3.760
b, ¢ 2.4
b=0.620, ¢ = 6.613
y= 8+ 0.620(z — 6.613) = 3.900 + 0.620x
JMP 2.5
2.5: JMP
B
SSE DFE MSE RMSE
278 4 0E95 0253366585
HoH-4 i | A R THGEHIER FANS#HIER
h 062 01172892826 034121491 089272309
o 6129032258 062221217 530791238 273579603

23



24 2

(3) «
JMP b, ¢ c
0.6288
2 c 6 Q b Solv-min
2.6 1 o 2 c
b 2 4 Q
26:¢c @
o —2 -1 0 1 2 3
c | 4613 5613 6.613 7.613 8.613 9.613
b 0.563 0.664 0.620 0.513 0.411 0.330
Q | 11.843 4.987 2.780 4.048 6.375 8.622
12 T 1.GRGE%S - 0.2116x +
10 AR
3 -
E‘l -
"I‘l -
2 1 1 1
-2 -1 I 1 2 3
b @ Solv-min
) Q 3
2 3

Q = 2.8774 — 0.21166 + 1.56566% — 0.2866°

2.6

(2.3)



2.1

§1.4 (2.3)
2.
Q=S.+V,=2780+ ? = 2.780 +0.695 = 3.475

6 ¢ se(c)

§ = —0.531, 0.748

|6] c
se(c) = w — 0640, = /0531 x 0.748 = 0.630
JMP 0.628
3 2 1.5656
Y _

se(c) = 15656 — 0.666
(4) c

(2.3)

Q= Se + F(1, fe; 0.05)V, =2.780 + 7.709 x 0.695 = 8.138

) ¢ = 6.613 c
F(1, fe; 0.05)

§=—1.565 2.724

¢ ~ (5.048, 9.337)

(5.088, 9.383)
JMP (5.308, 8.736)

25

t(fe, 0-05)2 =



2
c b
ba  1.2474
—-EE-—-]J4669-—(18503

)
=J$2+I$3* (J$4*$G6+$H6) *$F6
=SUMSQ($16:$117-J6:J17)

Q a, b, ¢

1.467 x 0.850
y= 157+ z,
1.467

2.7

81.3

2.7

1,B

c, 1—c

J6



2.2 27
2.7 2
E| F [a[H [ 1 J L M [ W [ o P 0
1 5 5| -0.08  -0.04 0 .04 0. 0@
2 a 14.57| [e| 0,770 0.810 0850 0.890 0_830
] b 1467 | a| 17.47| i5.82  14.57 1400 14.00
4 P o.gs0| | b] 1498 1.485 1,467 1,443 1443
5 Wl ol 1-e v w-hat| @ FER 524 471 578 876
B (Al ol 1] o] 23] 14
Poal s0o1 0 74 Feal 1000 o= B9R9Re® + TEEITE - 191.21x 4,
g | Al 75/ 1 0100 1081 ] 463,18
8 (Al 100 1 0 134 1393 .
11 |m| 150 1 o 204 2007
1z || olol 1] 18 148
12 |B| S0l 0 1| 73 #7.8 &0
14 |B| 75 0 1| 128 1248
15 |B| 100 0 1| 15% 161.3
16 |B| 125 0 1| 202 197.8 00 -
17 | B| 150 0 1 233 2346 0s -0.04 o 004 o e
18 n 471
Qe 471 12
9 V523
c 0.05
Q=S5.+F(1, fe; 0.05)V, =471 +5.117 x 52.3 =471 + 268 = 738
c
2.7 c 0.04 c Q
a, b

c Q 2 3

2.7
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2.3
(1)
uM V10
(mm)
2.8:
0.0100 1
0.0316 3
0.100 5}
0.316 23
1.00 66
3.16 113
10.0 158
31.6 171
100 171
316 165
2.8 Excel
T Yy
=y Ymaz — Ymun
y - ymm 1 + e—(a+bm)
i —Ymin
a x=0 In{ -y_Lyrnax*y}
Ymin = 0
Ymaz  Ymaz/2 z
ymaa:/2 x (2.6)
_ 1
y= ymamm
c T 3

Sr=c e tEme) =1 2



2.3

(2) Excel

Excel 2.9

ymax | 175,00 17158

b z.00| 2 e8|

¢, Bog00) 0.2

%l lag(x) v w-hat w-hat
0.0100 -2 000 1 1.74 0. 4g
0.031& |-1_500 3 A E5 1.75
o100 -1_000 5 12.10 .54

0316 -0_500 23| E3.38 ) 22_E%

mmhmm_hgmm-dmm.p.wr\Ja

1.00 0.000 EE E2.01 B3_.13
316 0,500 113 104,74 (11853
0.0 1.000 158 140. 38 |[133_ 67
F1.6 1.500 171 16044 |[1BE_52
100 2_04a0 171 16935 |[170_23
316 2500 163 | 17288 /171_23
Se| BES_ 22 12110
A B T C
175, ¢ ~0.3 b P
D2:D4
7 D6  =D$2/(1+EXP(-D$3+ ($B6-D$4)))
Se D16 =SUMSQ($C$6:$C$15-D6:D15)
Q Ymazs b7 c
Yy = yma:c/2 10¢ = 100'201 =1.59
(3) c
JMP 2.10

29

ymaaf: =



30 2

2.10: JMP
b7

SSE DFE MSE RMSE

12138418008 Too7a4e027 41643759
Hox—-4 HEE W SR TAEHEIER L AEHEIER
WM 17108076776 268479888 162912476 177961205
] -2 688601247 018501043 31954708 -2 3076800
< 02008256102 003101341 012840738 02741042

c 0 2 c 3,4
yma:m b 5 Q
2.11:

& -0.04 -0.0% 0. 00 n.0% 0.04
@ 0.161 0.1381 0.201 0.221 0.241
VALE: X 169.76 170.66 171.5% 172.50% 173.50
h 2.73% 2.71h 2. 624 2. BED 2. 628
4 150.6% 128.46 121.10 128.41 150.21

145 -
1410 -
135 -
130 -
125 -

185 y = -3195.5:° + 18315 F 0.0087x + 121.11
14l y = 18315x° [~ 4.3526x + 121.11

120 ¢ !
-0.04 -0.02 I

Q Ymmazs O Solv-min



2.3 31

Q =121.11— 0.00676 + 1831562 — 3195.56%

Q =S, +V, =121.10+17.30 = 138.40 5 0.0308 —
0.0306 0.0307  JMP 0.03097
Q = S.+F(1,7;0.05)V, = 217.84 §  —0.0722,00731 ¢ 95%
(0.1288, 0.2741) JMP 0.1284, 0.2742)
2 18315
se(c) =\/Ve/  =4/17.30/18315 = 0.0307

¢ ~ 0.201¢(7,0.05) x 0.0307 = (0.128,0.278)

(4)
Yy
2.12
ymax — 100
2.12 2.12
y =50 x, D50 3 4
D50
D50 Q

2.13

D50 D50



32 2

2.12: 2
smax  100.00
b -9.18
¢ 2.704
e % v|  v-hat
300 1.477 82.2| 100.00
100 2.000 95.2| 99.85
00 2.477 89.1| 98.9°7
Loon 3.0000 5.4 6.1%
3000 3.477 4.8  0.08
0| 361.89
2.13: D50 Q
430y = 30401+ + 7020.84° - 3.80%% L] O
420 + 363
410 2000
400 1500
390 1000
330
370 a0 o ©
IR0 0t L L )
-0.1  -0.05 -4 -D.2 0.2 0.4
2.13
D50 4




3.1
(1)

prob(r) = ,Con"(1—m)" "

n =10

3.1:

(3.1)

3.1

05

10

15

.20

25

30

35

40

A5

50

55

A0

A5

70

Wi

80

85

80

85

80
32
07
m

00
00
00
00
00
00
00

fan L e R mn L R IR [ R o ) e T Y B

—_

235
38
138
05
i8]

00
00
00
00
00
00

.20
.35
.20
13
.04
.0

00
00
00
00
00

11

27
.30
.20
.05
.03
.M

00
00
00
.00

.0f
18
.28
25
15
08
02
00
00
00
00

03
1z
23
27
20
10
04
iu)

00
00
00

M

07
18
25
24
15
07
0z
00
00
00

M
04
12
21
25
20
N
04
i8]
00
00

00
0z
.03
A7
.24
23
A6
07
.0z
00
00

0o
.M
.04
1z
21
25
2
a1z
.04
.0
Rels]

00
00
0z
.07
16
.23
.24
A7
.08
0z
00

00
ol
.M
04
B
20
25
21
1z
04
i8]l

00
00
00
0z
07
A5
24
25
18
07

00
00
00
m

04
A0
20
27
23
1z

.00
00
.00
00
.0z
QUL
15
25
.28
R
06

0o
0o
0o
gulo]
.0

.03
.08
.20
.30
27
1

00
00
00
0o
.00
.0

.04
A3
.28
.35
20

00
00
00
0o
.00
00
.M

08
18
.38
.35

00
00
00
00
00
00
00
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S
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(1)
n, r ™ T=r/n
T
InL =WnGCr)+rint+(n—7r)In(l —7)
T s s
0
OmL r n—r (l-mr—-=n(n—-r) 7r—17n _0
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3.4: 7

[ RN

- — = -l - - - =

[

1 -l - e - -

iE

T2IR D AR HE

d- - - -

0.45 |

_3 F == = =
_4 F == = =
_5 F == = =

BB

_E F == = =
_'I|‘ F == = =

0.40

0.35

LN (BINOMDIST($C$5,$B$5,D5,FALSE))

FALSE

BINOMDIST

(2)

1

3.841(

-4.056

1.962

5%

0.152 <7 <0.369



7= 0.24, 0.25, 0.26

—2.135 — (=2.151 — 2.151) /2

(0.25 — 0.24)2 = 160

s

m=7+1/3.841/(2 x 160) = 7 & 1.96//Z x 160

0.140 <7 < 0.360

0.147 <7 <0.379

3.4

(3) : 2

3.2 T

—2.151, -2.135, -2.151
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3.5:
1.00 prommqmmmmoymmos e i iyl o
s e T S S
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183 | 10 5 0.5 e R G bt R R
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(2)
§3.2 D 7r
6 2 b, c
b7 c ]/57,
b, ¢
Excel 3.6
3.6: Excel
A | B C |D | E F G |
2 z| r n P D L
3 101  4.615 0 10 0.00 [ 0.042 -0.434
4 136 4.913 2 10 020 ] 0.164 -1.241
5 183 5.209 5 10 0.50 | 0.465 —1.427
6 247  5.509 8 10 080 | 0.796 -1.198
7 333 5.808 9 10 090 1| 0.946 -1.112
8 450 6.109 [ 10 10 1.00 | 0.987 —0.127
9 b 5.004
10 c 5.238
11 > L -5.539
F9:F10 b, ¢
F3
=1/ (1+exp (-F$9* ($B3-F$10)) D1
G3
=LN (BINOMDIST($C3,$D3,F3,FALSE))
p1 Ly
G11
b, ¢
3.6
p =05 x ¢ 5238 e> 28 = 188
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(3) ¢
c  95%
c 5.238 +0.1, £0.2 5
L b 3.7
3.7 ¢
I J | K | L | M | N |
2 |10 -0.200 —-0.100 0.000 0.100 0.200
3 0.156 0.079 0.042 0.030 0.030
4 0.378 0.258 0.164 0.115 0.098
5 0.665 0.583 0.465 0.351 0.276
6 0.868 0.851 0.796 0.695 0.575
7 0.956 0.959 0946 0.906 0.827
8 0.986 0.990 0987 0.976 0.945
9 3.987 4.695 5.004 4.808 4.229
19 | ¢ 5.038 5.138 5.238 5.338 5.438
11 | L -8.35 -6.32 -5.54 -6.34 -8.55
3.7
36 F p be
) C 1)
L P
=SUM(LN(BINOMDIST ($C$3:$C$8, $D$3:$D$8,J3:J8,FALSE)))
Ctrl Shift Enter
1 L b ¢
3.8
2 3

L = —5.5836 — 0.42876 — 71.8485
= —5.5836 + 0.01306 — 71.8485% — 12.996>

0= —-0.200
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-7
/; = -71.848%" -

04287 % - 55%

"

y = -12.99x" - 71848 + 0013x - \

55236

-5

-02 =01 0.0 0A 0z

3 L —5.539 — X2(1, 0.05)/2 = —7.460 )
3.9
3.9 ¢
—5.584 0.013 -71.85 -12.99

c 1 1) 62 63 L
5.074 1 —-0.164 0.0269 -0.004 | —7.460
5.397 1 0.159 0.0254 0.004 | —7.460

5.074 < ¢ < 5.397

(4) D50

§3.3 (1) 2

3.10
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3.10: 2
dose Gr x| ¥ n p phat p—hat 10 _ _
101 o 4.62] 0 10 0.0] 0.040 0.0B2 | e
136 0 4.91| ¢ 10 0.2] 0.159 o0.%95 | 0-9 pra
123 0 5.91| 5 10 0.5 0.4R4 0.%R0 | 0.8 7
247 0 G.51| 8 10 0.8 0.%00  0.850 | 0.7 7
333 0 G.81] 8 10 0.8) 0.948 0.98% | 0.8
450 o F.11/10 10 1.0/ 0.989  0.891 | .5 .
101 1 4.82) 1 10 0.1] 0.083 0.06% |, , / L
136 1 4.91) 3 10 0.3 0.203 0.285 | ' J ¢ B
183 1 5.21| 6 10 0.6 0.655 0.560 | ' A (N B
247 1 G.51| @8 10 0.9 0.898  0.8%0 | Y _ wwiE
333 1 5.81/ 10/ 10 1.0| 0.976 o0.9g% |0l [ —
450 1 @.11]10 10 1.0/ ©0.895 0.g991| 0.0 ¢ : : : :
b R AT 4.9%9 4.5 5.0 5.5 B.0 G.5
o 5,238 5.1K1
d =0 154 .
LARHBRR2 S
L A
s ()
p= " (34)
1+eb(m—(c+d)) (B)
A B D30 ¢ c+d d D50
d P
=1/ (1+EXP (-G$15%($C3- (G$16+G$17*B3)) ))
B A 0 B 1
L —10.52
D50 —11.50
2 2% (—10.52— (—11.50)) = 1.94 1
2

1.94 0.1634 2



